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QUESTION 1

Which CLI command should be executed on a KVM hypervisor to retrieve the VM interface UUID? 

A. virsh dumpxml | grep interfaceid 

B. virsh get-interface  

C. virsh show | grep interfaceid 

D. virsh list-interface  

Correct Answer: A 

https://docs.vmware.com/en/VMware-NSX-T-Data- Center/3.0/nsxt_30_admin.pdf 

 

QUESTION 2

What are two types of supported IPSec VPNs in NSX-T Data Center? (Choose two.) 

A. policy-based IPSec VPN 

B. Layer-7 based IPSec VPN 

C. route-based IPSec VPN 

D. Open source based IPSec VPN 

E. SSL based IPSec VPN 

Correct Answer: AC 

 

QUESTION 3

Which command is used to display the network configuration of the Tunnel Endpoint (TEP) IP on a bare metal transport
node? 

A. ifconfig 

B. tcpdump 

C. debug 

D. ipconfig 

Correct Answer: A 

https://docs.vmware.com/en/VMware-NSX-T-Data-Center/3.0/installation/GUID-B7E7371E-
A9F6-4880B184-E00A62C0C818.html 
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QUESTION 4

What is the most restrictive NSX-T built-in role which will allow a user to apply configuration changes on a NSX Edge? 

A. Cloud Service Administrator 

B. Network Engineer 

C. Network Operator 

D. NSX Administrator 

Correct Answer: B 

 

QUESTION 5

Which statement Is true regarding the audit user account? (Choose two.) 

A. The admin user must set the password for the audit account to log in to NSX Manager. 

B. The administrator must run the set audit user password command. 

C. The audit user has read-write access to the NSX Manager. 

D. The audit user is disabled by default and must be enabled to log in to the NSX Manager. 

E. The administrator must run the set user audit password command. 

Correct Answer: AE 
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